
Supplementary File 13 Seizure scenario sets and 
presentation order participants were randomised to and 
response rates 

 

SF 13 Table 1 Seizure scenario sets participants were randomised to complete 
DCEs on 

 
 

Seizure scenarios  n (%) Presentation 
order 

n (%) 

People with epilepsy (n=427) 

Atypical seizure / Public typical seizure  145 (34.0%) Standard 68 (15.9%) 

Reverse 77 (18.0%) 

Home typical seizure / Atypical seizure 146 (34.2%) Standard 71 (16.6%) 

Reverse 75 (17.6%) 

Public typical seizure / Home typical 
seizure 

136 (31.8%) Standard 71 (16.7%) 

Reverse 65 (15.2%) 

Significant others (n=167) 

Atypical seizure / Public typical seizure  54 (32.3%) Standard 25 (14.9%) 

Reverse 29 (17.4%) 

Home typical seizure / Atypical seizure 61 (36.5%) Standard 31 (18.6%) 

Reverse 30 (17.9%) 

Public typical seizure / Home typical 
seizure 

52 (31.2%) Standard 29 (17.4%) 

Reverse 23 (13.8%) 

 
Notes: DCE, Discrete choice experiment; n, number. 
 



SF 13 Table 2 DCE response rate by participant type and hypothetical seizure scenario 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Notes: DCE, Discrete choice experiment; n, number; PWE, people with epilepsy; Each participant was randomised to complete DCEs on 2/3 seizure scenarios. Each 
scenario involved 12 forced, pairwise choice questions.  

 

 

 

Seizure scenario 

Participant type 

PWE 

(n=427) 

Significant other 

(n=167) 

Pooled  

(n=594) 

Home typical 

seizure 

239/282 [85%] 97/113 [86%] 336/395 [85%] 

Public typical 

seizure 

252/281 [90%] 96/106 [91%] 348/387 [90%] 

Atypical seizure 258/291 [89%] 105/115 [91%] 363/406 [89%] 

 749/854 [88%] 298/334 [89%] 1047/1188 [88%] 



SF 13 Figure 1. The randomisation of people with epilepsy to the different possible DCE sets and extent of fully complete 
responses 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

Notes: DCE, Discrete choice experiment; n, number; Each participant was randomised to complete DCEs on 2/3 seizure scenarios. Each scenario involved 12 forced, 
pairwise choice questions. Thus, a complete DCE set for a participant equated to 24 DCE choice questions being answered. 

Randomised to DCE 
n=427 

DCE Set: Atypical/Public 
Completed ≥1/24 questions 

n=145 

DCE Set: Home/Atypical 
Completed ≥1/24 questions 

n=146 

DCE Set: Public/Home 
Completed ≥1/24 questions 

n=136 

DCE Order: 
Normal 

n=68 

DCE Order: 
Reversed 

n=77 

DCE Order: 
Normal 

n=71 

DCE Order: 
Reversed 

n=75 

DCE Order: 
Normal 

n=71 

DCE Order: 
Reversed 

n=65 

DCE Set: 
Fully complete 

69.0% 

DCE Set: 
Fully complete 

71.9% 

DCE Set: 
Fully complete 

69.9% 



SF 13 Figure 2. The randomisation of 'significant other' participants to the different possible DCE sets and extent of fully complete 
responses 
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Notes: DCE, Discrete choice experiment; n, number; Each participant was randomised to complete DCEs on 2/3 seizure scenarios. Each scenario involved 
12 forced, pairwise choice questions. Thus, a complete DCE set for a participant equated to 24 DCE choice questions being answered. 

Randomised to DCE 
n=167 

DCE Set:  Atypical/Public 
Completed ≥1/24 questions 

n=54 

DCE Set: Home/Atypical 
Completed ≥1/24 questions 

n=61 

DCE Set: Public/Home 
Completed ≥1/24 questions 

n=52 

DCE Order: 
Normal 

n=25 

DCE Order: 
Reversed 

n=29 

DCE Order: 
Normal 

n=31 

DCE Order: 
Reversed 

n=30 

DCE Order: 
Normal 

n=29 

DCE Order: 
Reversed 

n=23 

DCE Set: 
Fully complete 

75.9% 

DCE Set: 
Fully complete 

72.1% 

DCE Set: 
Fully complete 

73.1% 


